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801 8 1o6| 100 | 4| O
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80 3 08 50 5 40
80 3 09 50 5 40
80| 6 | 10| 100 | 6 40
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I X X m
Ex=p x~N g o*/n
x pox
o s R
R
c s =R/d, d, n 4-1
4-1 30
d, ds A, D, D, my E,
2 1.1284 0.853 1.880 / 3.267 1.000 2.660
3 1.6926 0.888 1.023 / 2.575 1.160 1.772
4 2.0588 0.880 0.729 / 2.282 1.092 1.457
5 2.3259 0.864 0.577 / 2.115 1.198 1.290
6 2.5344 0.848 0.483 / 2.004 1.135 1.184
7 2.7044 0.833 0.419 0.076 1.924 1.214 1.109
8 2.8472 0.820 0.373 0.136 1.864 1.160 1.054
9 2.9701 0.808 0.337 0.184 1.816 1.224 1.010
10 3.0775 0.797 0.308 0.223 1.777 1.176 0.945

ISO 9004 — 1 - 1994

10.2

SMI1E
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d, =3.078

3 SCAT  Simple Capability Acceptance Test

R
Cp
CP:
T c
T
CP_66 4-1
1.Gp
3 Cp 3
4-8
L ¥
| r !
o
4-8
4-8
Sy =S
Co="e " 4-2
SU_
S,—
c—

4.1 O20mm + 0.023mm

10
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7-2
C _Sy-S. 20.023-19.977
T 66 6 x0.007
=1.095
4-9
T _‘.'...
|
|
4-9
4-9
Sy
C, = ‘436” 4-3
M J—
4.2 <0.05mm X
=0.01mm S=0.011mm G,
7-3
C =

o= Sy—p /30 =~ Sy-X / 3s

= 0.05-0.01 / 3x0.011

=1.21
n=Sy C, =0
50%
4-3
Sy
G =¢, 4-4
Cp
4-10
4-10
_r-=S _
Co="%, 4-5
4.3 80kg/mm’
X = 90kg/mm’

S = 3kg/mm’ C
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e T2 K
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K_T/Z_ T/2 4-7
€ K Cpg
Ckx= 1-K G, 4-8
4-7 4-8
o IM-pl =T72 K=1
@ IM-pl >T/2 K>1 Ck=0
v M IM-pl =0 K=0 4-8 4-2 4-2
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X = 12.19238mm S=0.00286mm C, Cx

X = 12.19238mm S = 0.00286mm
M= S,+S, /2= 12.2+12.2-0.018 /2mm
=12.191mm
T= 12.2- 12.2-0.018 mm=0.018mm
IMX| = 112.191-12. 19238 | mm = 0.00138mm

. 0.018
" = 6x0.00286

~0.00138
0.018/2

C =1.048

Cpx =1.048 x 1 =0.887

3.

Cp Cox 0.67 -3a +3¢
1.0 —-46 +4o Cp
-5 +5¢ Cp Cix 1.67

-26 +26
Cp
1.33

Cp<<0.67

0.67<Cpr<1.0

1.0<Cp<1.33

1.33<Cp<1.67

Cp>1.67

4-3

CP CPK

Cr<0.67 C>1.0

0.67<Cr<1.0
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5 27.75

20 50
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1980
20 70
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A— Achievable
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200 98% 250
85%
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1100 16
1 84
% = 5 x 100%
X
80% 15 95% 10
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m—ﬁxloﬂ%_o.leOO%_m%
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NaCI95 % 180
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180x 059 100% = Tygp X 100% =85.45%
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95 % 250
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6 4 480 15 5
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6x20=120
4x20=80
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4800 + 4800 x 100% = 96%
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5 4
100 +5=20 100 +4=25

100 +2 =50 2 1
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2 %30
4% 20 2% 4 4* 7
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2* 3
3x30=90
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1| 2* 30, 120.00| 190.001.00{1.20(4.50{1.20{1.00/0.05[0.02 100.07| 19.93 | 8|4
4* 20 140.00 100.001.00/1.30|4.50|1.20{1.00{0.05[0.30 110.45| 29.55 4
2| 3* 25 151.6 139.520.25/1.00|2.50|1.37{0.80{0.15[0.70 146.29| 5.39 |88
2536.7 273.131.5(25.3| 120 [{35.2| 30 | 2.3|11.2| 8.1 25.3 | 182.4 20180
= X X X
7.5 1 88%
7 0.15 7/



— 821 —

7.5KWx1 / x7 x0.15 / =7.88
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= 1- % + % X X
- 2
15 50 750 44
2100 35000
0.03
=50 x44=2200
=750 x 44 = 33000
2100
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35000
O/_W)XIOO%_I%.%% = 1-

95.455% + 106.06%
2

x33000x0.03 = -250 x0.03-7.50
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1 200 500 800



— 823 —

“ "o

= x 100%

x 12
100%

= x 100%

x 12



— 824 —

21




— 825 —

1+

1+

“ " w



— 826 — 21

1 =— x100%



— 827 —

x 100%
x 100%

x 100%
— x 100%
x 100%

+
X

, - VAN ,
:Amm,+ff+Mg 4 Lljr'+Ahh

1+Ayw 8T 14 AP

%

%o



— 828 — 21

Ah %

m’+f{ +¢g" +1"+h'=100%

= x 100%

2.

= x 100%

3. =

1.

1 = x 100%
_2

2 = x 100%
2.

1

= + + + +

2

3

4 = x 100%
5
3.

1

=— x100%
2 = x 100%
+
3 = x 100%
+

4 = x 100%



— 829 —

x 100%

x 100%

360

x 100%

x 100%

x 100%

x 100%

x 100%

x 100%

x 100%

x 100%




— 830 — 21

2.
3.
_2 5 _ x x 100%
= = X
X
= X X
= - X




— 831 —

360

100



— 832 — 21

_105+115+95 1000, = 105%

x 100%

3
103.33 + 100 + 109 + 105 + 99.33 + 97.67
10

96.67 + 120 + 106.67 + 111.67

+
10
=104.93
_104.4+ 1131.8 +98.6 _ 104.93
%o Yo %o %o

1 105 110 95 103.33

2 100 105 95 100

3 110 120 97 109

4 105 115 95 105
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/ / )
XiYi X
X Yi
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2 1.8 22.6 40.68 3.24
3 2.0 25 50 4
4 2.4 29.8 71.52 5.76
5 2.2 27.4 60.28 4.84
6 2.6 32.2 93.72 6.76
12.5 156 334.7 26.85

CDy-bXx 156-12x12.5
= - = < =
_n2ixy— 2x2y_ 6x334.7-12.5%x 156
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1| 1000 0.909 909 909 18909 1.100 20799.90
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n=T=30 7 31 =31
My, =2.97
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